KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION OR IGNAMISSION Form ACC-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 8061	API No. 15 - 007-23038-00-00
Name: Oil Producers Inc. of Kansas	County: Barber
Address: 1710 Waterfront Parkway	e/2_nw_nw_Sec. 34_Twp. 32_S. R. 14
City/State/Zip: Wichita, KS 67206	720 feet from S / (N)(circle one) Line of Section
Purchaser: N/A	950 feet from E /(W) (circle one) Line of Section
Operator Contact Person: Lori Zehr	Footages Calculated from Nearest Outside Section Corner:
Phone: (316_) 681-0231	(circle one) NE SE (NW) SW
Contractor: Name: Mallard JV, Inc.	Lease Name: Hinz Well #: 1-34
License: 4958	Field Name: Elsea
Wellsite Geologist: Mike Rice	Producing Formation: N/A
Designate Type of Completion:	Elevation: Ground: 1991 Kelly Bushing: 1996
New Well Re-Entry Workover	Total Depth: 4854' Plug Back Total Depth: N/A
OilSWDSIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 258 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? Yes No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth to sx cmt.
Well Name:	\(\frac{1}{2} \cdot \frac{1}{2} \cdot \frac{1}{2
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 8,960 ppm Fluid volume 80 bbls
Plug Back Plug Back Total Depth	Dewatering method used Haul to SWD
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name: Oil Producers Inc. of Kansas
11/20/2006 11/28/2006 Not Completed	Lease Name: Rich #9 SWD License No.: 8061
Spud Date or Recompletion Date Date Reached TD Recompletion Date Completion Date Recompletion Date	Quarter_SE Sec. 22 Twp. 32 S. R. 19 East v West County: Comanche Docket No.: D-28178
Lost hole, skidded rig.	
Kansas 67202, within 120 days of the spud date, recompletion, workow information of side two of this form will be held confidential for a period of	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, er or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-131) and geologist well report shall be attached with this form. ALL CEMENTING S. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulatere and correct to the lest of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
Signature:	KCC Office Use ONLY
Title: President Date: September 21	. 2007 Letter of Confidentiality Attached
Subscribed and sworn to before me this 21st day of Scotember	/ If Denied, Yes Date:
2001 (/)	Wireline Log Received RECEIVED
MIL ZIAN A. LORIA.	Geologist Report Received Geologist Report Received
Notary Public: Notary Public - Sta	ERK
Date Commission Expires: NWW 5 (WY APPL. EXPIRES	CONSERVATION DIVISION WICHITA, KS

Operator Name: Oil	Producers Inc. o	of Kansa	S	Lease	e Name:_	Hinz		Well #: 1-3	4	
Sec. 34 Twp	32 s. R. 14	. Eas	t 🗸 West	Count	y: <u>Barb</u>					
INSTRUCTIONS: S tested, time tool ope temperature, fluid re- Electric Wireline Log	n and closed, flowin covery, and flow rate	g and shut es if gas to	i-in pressures, surface test, a	whether s long with	hut-in pre	ssure reached	static level, hydro	static pressur	es, bottom	hole
Drill Stem Tests Take		Y	es ✔ No		L	og Formati	ion (Top), Depth a	nd Datum	√ S	ample
Samples Sent to Ge	ological Survey	□ Y	es 🗸 No		Nam	е		Тор	D	atum
Cores Taken	•	Y	es 🗸 No		Heel	bner		4116	-2	120
Electric Log Run (Submit Copy)		Y	es 🗸 No			sing A		4280		284
List All E. Logs Run:					Che	rokee Shale		4697	-2	2701
Geological Reportig.	ort-Lost hole, afte	er reachir	ng TD, skidd	ed		rokee Limes sissippi Cher		4740 4794		?744 ?798
		Repo	CASING	RECORD	Ne		etion etc			
Purpose of String	Size Hole	Siz	ze Casing	We	ight	Setting	Type of	# Sacks		nd Percent
	Drilled		t (In O.D.)	ļ	. / Ft.	Depth	Cement	Used		ditives
Surface		13 5/8		48#		258'	A-Con,Comr	275 sx	None	
	···- ₁		ADDITIONAL	CEMENT	ING / SQL	JEEZE RECORI)			
Purpose: Perforate	Depth Top Bottom	Туре	of Cement	#Sack	s Used		Type and Pe	ercent Additives	· · · · · · · · · · · · · · · · · · ·	
Protect Casing Plug Back TD Plug Off Zone	Plugging	60/40	Poz	190 sx		6% gel				
Shots Per Foot	Specify		RD - Bridge Plug Each Interval Per)		acture, Shot, Cement mount and Kind of Ma		rd	Depth
	N/A									
TUBING RECORD	Size /A	Set At		Packer	At	Liner Run	Yes ✓ No			
Date of First, Resume N/A	d Production, SWD or E	Enhr.	Producing Meth	nod	Flowin	g Pump	ing Gas Lif	Oth	er (Explain)	
Estimated Production Per 24 Hours	Oil N/A	Bbls.	Gas N/A	Mcf	Wate	er E	Bbls. G	as-Oil Ratio		Gravity
Disposition of Gas	METHOD OF	COMPLETIO		D		Production Inte	_ к	RES UNSAS CORPU	MAMON CO	MMISSION
Uented Sold (If vented, S	Used on Lease Sumit ACO-18.)		Open Hole Other (Spec	Per ify)	.	Oually Comp.	Commingled	SEP	2 4 200	7



SALES OFFICE:

100 S. Main Suite #607 Wichita, Ks. 67202 316-262-3699 316-262-5799 FAX SALES & SERVICE OFFICE:

10244 NE. Hwy 61 P.O. Box 8613 Pratt, Ks. 67124-8613 620-672-1201 620-672-5383 FAX

SALES & SERVICE OFFICE:

1700 S. Country Estates Rd. P.O. Box 129 Liberal, Ks. 67905-0129 620-624-2277 620-624-2280 FAX

Invoice

Bill to		6395901	Invoice	Invoice Da	te Order	Station
Bili 10		Г	611162	11/21/06	14171	Pratt
	OIL PRODUCERS INC. OF KANSAS			Servi	ce Description	
	1710 Waterfront Parkway		<u> </u>		Cement	
	Wichita, KS 67206			Lease	We	ll Well Type
		Γ		Hinz	1-3	4 New Well
				AFE	PC) Terms
		Ī				Net 30
	CustomerRep				Treater	
	Bob Casper			Ste	eve Orlando	
ID.	Description			UOM Quan	tity Unit Price	<u>Price</u>
D201	A-CON BLEND (COMMON)			SK]	150 \$16.50	\$2,475.00 (T)
ł				CIZ ·	105 61454	01 017 50 (T)

<u>ID.</u>	Description	<u> UOM</u>	Quantity	Unit Price	<u>Price</u>
D201	A-CON BLEND (COMMON)	SK	150	\$16.50	\$2,475.00 (T)
D200	COMMON	SK	125	\$14.54	\$1,817.50 (T)
C194	CELLFLAKE	LB	70	\$3.70	\$259.00 (T)
C310	CALCIUM CHLORIDE	LBS	659	\$1.00	\$659.00 (T)
F165	WOODEN CEMENT PLUG, 13 3/8"	EA	1	\$180.00	\$180.00 (T)
E100	HEAVY VEHICLE MILEAGE - 1 WAY	MI	120	\$5.00	\$600.00
E101	CAR, PICKUP OR VAN MILEAGE - 1 WAY	MI	60	\$3.00	\$180.00
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 MIN	TM	777	\$1.60	\$1,243.20
E107	CEMENT SERVICE CHARGE	SK	275	\$1.50	\$412.50
R200	CASING CEMENT PUMPER, 0-300' 1ST 4 HRS ON LOC.	EA	1	\$924.00	\$924.00

Cover By Cun

Sub Total: \$8,750.20 \$1,400.03 Discount: \$7,350.17

Discount Sub Total: Barber County & State Tax Rate: 6.30% \$285.27

(T) Taxable Item Total: \$7,635.44

> RECEIVED KANSAS CORPORATION COMMISSION

> > SEP 24 2007

COMSTRVATION DIVISION MICHITA KS

JE	2 † ⊆	Sta		Subject to	o Correction	FIELD	ORD	ER 1	4171
ENER			ES.	Lease 17: US		Well #1 -3	ر Le	gal Barb	2-34-32-
Date 11-2	1-06 T	Customer ID		County Barbo		State KS	St	ation γ_{ra}	##
6 D/J.	P, Ducer	COFK	angas	Depth 258	Formation			e Joint	
H ———— A R ————	1 10000	<u> </u>		Casing 3/8	Casing Depth	TD		33/8 Sur	face N.W.
R				Customer Represe	ntative -Sper	Treater	570	ue Orla	~lo
<u> </u>				Materials V	1	0 (/		
AFE Number		PO Number		Received by	Davon	KU	u		
Station Code	Product Code	QUANTITY		MATERIALS, EQUIP	MENT, and SERVICES	USED		UNIT PRICE	AMOUNT
۴	D901	150525	A con	Blend					
<u> </u>	2500	12554	Commo	2×					
P	८१९५	7017	Cell &1.						
P	C310	65919	CALCIUM	Chroride					
		lea	1 > 0	in Cement	P\.,.				
	F-165	184	W 000 4	in cement	11.05				
	(1)	120	11.	Jehideh	1)				
- P	E 100	130 m/	•	Milege	<u> </u>				
	E 104	60mi		Balivery					
	E 107	27558	6 . 2	Sarvice	Therge				
	RZOD	 	Carre	Crement P	umper D'-	300			
	1000	1 2 4	3						
<u> </u>								· · · · · · · · · · · · · · · · · · ·	
								1	
			Dosc	wated P	rice plus	s taxes			7350.1
							 		
			<u> </u>						
			 						
		<u> </u>					RF	CE	
		-				KAN!	SAS COR		SSION
							SEF	2 년 2007	
	 						CONSE	RVATION DIVISIO	h
		-	 					VICHITA, KS	
		+	 					1	
					· · · · · · · · · · · · · · · · · · ·				
10244	NE Hiway 61	• P.O. Box 8	613 • Pratt, KS	6 67124-8613 • (620) 672-1201 • F	ax (620) 672-5	383	TOTAL	



TREATMENT REPORT

Customer	2	T .	L	ease No.					Date				
O'	Produce	ers Truc	- v	Vell#	-34					11-	21 -	-06	
Field Order#	Station	Praty	l r				48 Depth	58	County	Back	><		State R S
	3/8 50		New	well	(Formation	3.			Legal De	escription 4-32	5-142
<u> </u>	DATA		ORATING	DATA		FLUID (JSED		7	TREAT	MENT	RESUME	
Casing Size	Tubing Size	e Shots/F	Cur	Connect		ion 2	,25 004		RATE	PRES	SS	ISIP	
Depth 58	Depth	From		255K			118 00					5 Min.	
Volume 1	Volume	From	То		Pad			Min				10 Min.	,,
Max Press	Max Press	From	То		Frac			Avg				15 Min.	
Well Connection	on Annulus Vo	ol. From	То					HHP Used				Annulus F	
Plug Depth	Packer De	pth From	То				<u>8666</u>	Gas Volun				Total Loa	
Customer Rep	resentative	er		Station	n Manag	\mathcal{D}_{ϵ}	are Seo	##	Trea	ater S	tere	Dirlar	کی ہے ۔
Service Units		307/457	303/571						_		-		
Driver Names	5ture	Keeven	Action	<u> </u>									
Time	Casing Pressure	Tubing Pressure	Bbls. Pur	nped	Ra	ate	<u> </u>				ce Log		
17:30							12010	<u>cation</u>	<u>-5</u>	- fe	my M	eeting	
								637					5
								i up to		55 -	Break	c Circ 1	wincing
5:30	الهال			199		<u>5 </u>		58-				10.1	
			6				Mix 1305ks 17-Con@ 13.17 Mix 125sks Common@ 15.86						
			2	ا ما		5_				DWW	w. C	15.2	36
			ļ <u></u>			4- /	Mel 6	Lage P	$\frac{2}{2}$				
	0		1 2	2		<u> </u>		+ D15		ener	~*	<u>. </u>	
3:00	180		36	۸ ا		<u> </u>	210	t Dow	~ 1	5 10	<u>, , , , , , , , , , , , , , , , , , , </u>	(10, 0	+ (Conort
			 				-Q.	2 (.	<u>ا ن</u>	70	90	0 6	(Cener)
							30	3 Con Than	س کا ۱۰	<1			
							 	1 Kar	112)	<u> 3 </u>	<u> </u>		
			1										
			 										
*			1			-					F	RECEIVE	D
							 			ĸ		RPORATION (
											SE	P 2 4 20	07
											CONS	ERVATION DIV	/ISION
		ļ											
			D.C. B	, 004.9	o Dwo	# KC	67124.94	313 a (62	n) 65	79-19	01.•E	ax (620)	672-5383
1024	4 NE HIV	vay 61 •	P.U. BO	10013		ш, к э	0/124-00	713 ~ (U2	.0,0		<u> </u>	TATOLO)	-012 0000



SALES OFFICE:

100 S. Main Suite #607 Wichita, Ks. 67202 316-262-3699 316-262-5799 FAX **SALES & SERVICE OFFICE:**

10244 NE. Hwy 61 P.O. Box 8613 Pratt, Ks. 67124-8613 620-672-1201 620-672-5383 FAX

MUCCHY.

620-624-2280 FAX

SALES & SERVICE OFFICE: 1700 S. Country Estates Rd. P.O. Box 129 Liberal, Ks. 67905-0129 620-624-2277

Invoice

		6395901	Invoice	Invoice Date	Order	Station		
Bill to:			612008	12/01/06	15391	Pratt		
OIL PRODUCERS INC. OF KANSAS			Service De	scription				
	1710 Waterfront Parkway Wichita, KS 67206			Cem	ent			
				Lease	Well	Well Typ		
				Hinz	1-34	New Wel		
				AFE	PO	Terms		
		Γ				Net 30		
	CustomerRep	Treater						
	Lyle Juergensen		Bobby Drake					

ID.	Description	<u>UOM</u>	Quantity	Unit Price	<u>Price</u>
D203	60/40 POZ (COMMON)	SK	215	\$10.30	\$2,214.50 (T)
C320	CEMENT GELL	LB	740	\$0.25	\$185.00 (T)
E100	HEAVY VEHICLE MILEAGE - 1 WAY	ΜI	120	\$5.00	\$600.00
	CAR, PICKUP OR VAN MILEAGE - 1 WAY	МІ	60	\$3.00	\$180.00
E101	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 MIN	TM	555	\$1.60	\$888.00
E104		SK	215	\$1.50	\$322.50
E107	CEMENT SERVICE CHARGE			\$700.00	\$700.00
R400	CEMENT PUMPER, PLUG & ABANDON (Workover Unit) 2 HR	EA	1	Φ/00.00	Ψ700.00

Sub Total:

\$5,090.00

Discount:

\$509.00 \$4,581.00

Discount Sub Total: Barber County & State Tax Rate: 6.30%

(T) Taxable Item

Taxes:

\$136.05

Total:

\$4,717.05

New Hinz 1-34

ENTERED

1 6 6000

RECEIVED KANSAS CORPORATION COMMISSION

SEP 24 2007

CONSERVATION DIVISION WICHITA, KS

Subject to Correction SERVICES Lease Station State County Date **Customer ID** Shoe Joint Depth **Formation** TD Casing Casing Depth Customer Representative Materials Materials Received by PO Number **AFE Number** MATERIALS, EQUIPMENT, and SERVICES USED UNIT PRICE AMOUNT Product Code Station QUANTITY Code 15/07 RYOU KANSAS CORPORATION COMMISSION 2007 CONSERVATION DIVISION WICHITA, KS 10244 NE Hiway 61 • P.O. Box 8613 • Pratt, KS 67124-8613 • (620) 672-1201 • Fax (620) 672-5383 TOTAL



TREATMENT REPORT

Customer	1 Ocade	icers	L	ease No.				Date			
Lease	nZ	u (r		/ell #	1-30	/			2-1-0	56	
Field Order #	Station	Pout	+		Casing	Depth		County	Barber L	Description	State K5,
Type Job p	74 N.	W.				Formation					325-14w
PIPE	DATA	PERF	ORATING	DATA	FLUID (JSED			REATMENT		
Casing Size	Tubing Size	Shots/Ft		1	Acid. 2155k	. 60/40/0		RATE F	PRESS	ISIP	
)epth	Depth	From	То			4+3	Max			5 Min.	
/olume	Volume	From	То		Pad	:	Min			10 Min.	
Max Press	Max Press	From	То		Frac		Avg			15 Min.	
Vell Connection	Annulus Vol	l. From	То				HHP Use				Pressure
Plug Depth	Packer Dep	th From	То		Flush		Gas Volu			Total Loa	
Customer Repr	esentative			Station	Manager Da	ve Sci	#	Treate	Bebly	Drak	دو
Service Units	123	309 457									<u> </u>
Driver Names /	Valle 5	ullavan	Mc Graw								
Time	Casing Pressure	Tubing Pressure	Bbls. Pur	nped	Rate				Service Log		
940						Un la	cation		Sutety	Mo	ettug
						1st Plu	g - 8	10 w/	50sk.		
2050	150		10		5,0	H20 1	Phead				
2052	150		14		6.0	MIX	mx.	<u> </u>	3.3#/	gal	
2055	50		5		6.0	Disg.					
						209/1	10 -a	270'u	100 5	K.	
2154			5	_	5.0	H201	Theon	12	- 		
2155			25	•	5,0	MIX	int Ca	2/3.	3 1/gas	<u></u>	
2200					5.0	DISP	7/	/ . /	///2 /		
			ļ			309	Jug -	(0) W	<u> 1 405K</u>		
2240	50		11		4.0	MIX	mt C	0/3.	5-190		
2245			4			Kut	Hole_	/			
2250			3			Mous	<u>e Hols</u>	2			
			 			Tob	Cons	le K			
			<u> </u>			1	- <u>-</u>	011	/		
			-			from	KS 1	30 <i>65</i>	<u>y </u>		
			ļ						KANSAS	F	
									MINON	5 2 74	2007
		_ 	<u> </u>								
						 			———-с	ONSERVATION WICHITA	
1024	4 NE Hiw	av 61 •	P.O. Bo	x 8613	• Pratt, KS	67124-8	613 • (6	20) 672	2-1201 •	Fax (620) 672-5383